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1	Introduction
The inter-RAT SFTD measurements towards NR-U were discussed in previous meetings and some agreements were reached [1][2][5]. Still, there are pending issues (mainly some exact values and behaviors to be decided). This paper discusses these open issues based on agreements from previous meetings. 
2	Pending issues
In RAN4 94-e [5], the following agreement is captured in the way forward:
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It’s agreed that Tmeasure_SFTD_LBT_max = k × Tmeasure_SFTD1 in last meeting. In one contribution submitted to RAN4 93 [3], a proposal was raised to set the value of k to be 10. During online discussion in RAN4 94-e, the proponent agreed to compromise to k = 6 as proposed in [4].
In our view k needs to be sufficiently large so that the UE may find the SSB even if it’s not synchronized to the NR-U neighbor cell and LBT failures could happen. The impact of the unknown SSB transmission time is already considered in the requirements for Tmeasure_SFTD1, and potential LBT failures severe that problem.
In our view, setting the value of k to be as large as 10 is too luxury in many cases. If the channel condition is not busy and LBT failures rarely happen, then having k as large as 10 gives a very relaxed requirement. Also, when exceeding Tmeasure_SFTD_LBT_max, as proposed in this paper, the UE can stop cell search for a while and then resume to skip the period when the traffic is heavy, which is a possible solution when measurement time exceeding Tmeasure_SFTD_LBT_max. Thus, k doesn’t need to be too large, since even if the measurement time exceeds the maximum there are mechanisms to solve it.
On the other hand, k = 2 seems insufficient. This would mean that the SFTD measurement would fail more frequently under LBT failures and only succeed with very clean channel conditions.
We propose to set k = 6 as this is a proper value not too large but also sufficient for the UEs to successfully carry out SFTD measurements.
Tmeasure_SFTD_LBT_max = 6 × Tmeasure_SFTD1.
3	Conclusion
Proposal 1: Tmeasure_SFTD_LBT_max = 6 × Tmeasure_SFTD1.
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